Calculus BC – Chapter 12 - Even Answers (F.T.D.W.)
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Section 12.3

2. 
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12.  7

14. Cut the cylinder by 

planes, z = 0 & z = 
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.

Work with the portion 

between these 2 planes. 

Cut this portion along 

the line thru (1,0.0) 

parallel to the z-axis. 

The circumference is 

also
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so the rectangle 

is a square and its 

diagonal is helix piece. 
(Extra credit anyone?)

Section 12.4


2. � EMBED Equation.DSMT4  ���� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���    = � EMBED Equation.DSMT4  ��� 


4. � EMBED Equation.DSMT4  ��� 


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���� EMBED Equation.DSMT4  ���� EMBED Equation.DSMT4  ���


    = 1/t


6. (see #4 above)


� EMBED Equation.DSMT4  ���


   = (0,0,1) constant


   so � EMBED Equation.DSMT4  ���


8.� EMBED Equation.DSMT4  ��� � EMBED Equation.DSMT4  ���� EMBED Equation.DSMT4  ���� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���� EMBED Equation.DSMT4  ���


   = 10/169











  








10. |v| = 1,  aT = 0


� EMBED Equation.DSMT4  ���= � EMBED Equation.DSMT4  ���


12. |v| =� EMBED Equation.DSMT4  ���,aT =0


� EMBED Equation.DSMT4  ���= 0 m/s2


14. � EMBED Equation.DSMT4  ���


16.� EMBED Equation.DSMT4  ���


18. � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


o-plane: z = y


n-plane: z = -y


r-plane: x = 1





20. � EMBED Equation.DSMT4  ���


(a) � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ��� Now use: � EMBED Equation.DSMT4  ���.


(b) � EMBED Equation.DSMT4  ���


(c) maximum curvature at x = 0


22. Use � EMBED Equation.DSMT4  ���


      x2 + (y + 4)2 = 4


24. Uh… I got ½ 


    (sure, I did!)











Section 12.5


2. 30,041m/s


4. 6481 km


6. 42167 km


8. 376,800 km


10. 


8.046 x 10-12


      sec2/m3


12. Orbital Speed: 


|v| = � EMBED Equation.DSMT4  ���
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